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1.

The energy equivalent to a substance of
mass 1 g is '

(A) 18x1013J
(B) 9x1013J

(C) 18x10%J

(D) 9x10%J

The half-life of tritium is 12:5 years.
What mass of tritium of initial mass
64 mg will remain undecayed after
50 years ?

(A) 32mg

(B) 8mg
(C) 16 mg

(D) 4mg

In a CE amplifier, the input ac signal to

1.

2‘

1 M0 Todn a3 B3

(A) 18x1013J
(B) 9x1013J
(C) 18x10%J
(D) 9x10%J

A0S LgRFodn 12-5 SRFRTNT.
64 mg T,00T gqgcabomdod 8303008
Q) BRwED 50 SR J03T #m%avﬂcs
Torte LeRTOIS ?

(A) 32mg
(B) 8mg
(©)
(D)

16 mg
4 mg

JodRFoD ac AT x;rjp'aig{, CE
S0{F DT RY, JTHFRLO BFEWAT

be amplified is applied across
(A) Forward biased emitter-base A) POTEF WD, ORI
junction HOFI*
(B) Reverse biased collector-base (B) ORII'F oD, ISTO-LIXT WOFR*
junction N
(C) OJxfF WORRT,  D0ITT-UIR
(C) Reverse biased emitter-base
RE RogS*
junction
(D) Forward biased collector-base ) mowEr  weow, Sdgpeue
junction 25055‘
Space for Rough Work /. 20t 3038 3¢
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4.

If A=1 and B = 0, then in terms of
Boolean algebra, A + B = |

(A) B
(B) B

© A

>

(D)

4.

A=133) B =0 <33,

Perned3E IS A + B =

RO0NTE

(A) B

=l

(B)

) A

>l

(D)

FReRodd  BORBRITY,
ﬁdga’ue‘:aod)oéq PG -

2,080 ebc.é)
gog,

£ P
M
<4

; b i a _
5. The density of an electron-hole pair in a ey . g 3333 8 s 1016 w0 uRE.
pure germanium is 3 X 1016 m=3 at
Clare LRV Brew®
room temperature. On doping with = 2'2 .
' o3 45 x 10 T
aluminium, the hole density increases to Snamn doq}) mo@é | A s
4-5 x 1022 m=3. Now the electron density 53)*2, émgbéﬁ R 5 dRew Shlevy
(in m™3) in doped germanium will be Zﬂ_i@@bod ad&a@‘ pplelafc (m‘3 SQ)
: | sngEa.
(A) 1x101° |
(A) 1x1010 -
(B) 2x 1010
| (B) 2x100
(C). 0-5x 100 '
| (C) 0-5x 1010
(D) 4x1010
' (D) 4x10%°
~ Space for Rough Work / 2.5 8038 3¢
> -
, ) M
i 58
. \b, '
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n-p-n ERRJICTT ToRT DQT* FBoL

6. The dc common emitter current gain of a | 6.

n-p-n transistor is 50. The  potential Rew*  50. CE 30RO BINTOHDD

difference applied across the collector and | 5 g v e

emitter of a transistor used in  CE ' Sodeenad oo @ b= &Y.

configuration is, Vogg = 2 V. If the 380°s  deeps) Re = 4 kQ, €T3, 3x°

collector resistance, Rg = 4 kQ, the base “ ’
’ » - 33 g3ego’ v008F (Ip) o

current (Ig) and the collector current (Ic) . o ) 9 LI _ ¢

-~ ALS)

(A) Ig=10pA, Ig=05mA (A) Ig=10pA, Io=05mA

(B) IB =05 [.I.A, IC =10 mA (B) IB =05 }J.A, IC =10 mA

(C) Ig=5pA, [c=1mA (C) Ig=5pA, Ig=1mA

(D) Ig=1pA, I;=05mA (D) Ig=1pA, Ig=05mA

7. The radius of the Earth is 6400 km. If the | 7.. EATCIA eV éuﬁ, 6400 km Uﬁdé; 2,000

height i i

eig -of an antenna is 500 m, then its sotdemn 338 500 m &B8, 953 =N

range is - =, :
B

(B) 100 km 100
(C) 80km

(C) 80km (D) 10km

(D) 10km -

8. A space station is at a height equal to the | 8 20T ﬂe‘m _ %GE"&E‘ mm@ %2-'-'36
radius of the Earth. If ‘vg’ is the escape TBOTD @gdd@g" Vg mm@b c—gaecl 3
velocity on the surface of the Earth, the 2

AMERA I deﬂmhcﬂ@ BT e’
same on the space station is o
times vy, : was@ — . VR OOX “3 AROTMOIE.
1 i 1 1
(A) = B) = A = =~
2 (B) (A) 2 (B) rll
1 : 1. 1 1
©C —+= D) — e —= D) —
N 75 Ny g -
Space for Rough Work / 2,88 803‘8* ﬁ‘;;'
N y
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g,l A particle shows distance-time curve as | 9. 2,000 BT BRU-330003 [gzo Seadod

shown in the figure. The maximum Seon. S 8808 How 308
instantaneous velocity of the particle is ugddlmm"‘ a% |

around the point Senz) 83 WOTOOROT MHTEIORIT.
A A
S S
8 R R
§ o)
A Q i Q
P R P .
Time i : Pineleve)
(A) P B) S
A P B) S © R D) Q
(C) R (D) Q

0. 8 93 SEYY AR e

10. Which of the following graphs correctly 203 @ 35@ ﬁﬁﬁi “003nN

represents the variation of ‘g’ on the

Earth ? 200RIE ?
g g
) IA. : (A) I&*
r T
R R
g g
(B) ’ : 'I‘: (B) | : :‘:
r r
R k R
g g
©) ‘ i ©) l i'
: r 1 r
R ' R
8 g
[N _ A
(D) l \ (D) :>
r Tr
R R
Space for Rough Work / LoD “”“.’5.9
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11.

A cup of tea cools from 65-5°C to 62-5°C in
1 minute in a room at 22:5°C. How long
will it take to cool from 46-5°C to 40:5°C
in the same room ?

11.

92.5°C ZHTRNINCOR BB, LOTD
B 3@ 65-5°C Q0T 62:5°C R 1 RWTTY,
Bomorbdd. ede dremaddd, 46:5°C Ealela)
405°C 1# IJomoneo oR) RRODL

(A) 4 minutes . & gd )
(C) 1 minute (B) 2 AR
(D) 3 minutes (©) 120w
(D) 3 AR
12. The dimensions of the ratio of magnetic .
: X ol 3 (w ne
flux (¢) and permeability (1) are 12. " modecd Fpr, () DR HDHS
- OROTIT SoIRROR) esNT.
a) MOL!T Al I
(A) 1319 A
@®) M°L3T0AY
B, @) MOL3T°AY
(C LIT A
) © moL'T A
2 1
O LT @ M™°L2T0AY
X et e e Madki | Y FERGD DedBHR  m SRV
13. mass ‘m’ on the s ce o Earth .
shifted to a target equal to the radius of BROBCLRY  WeR0ad  dd RRTT
the Earth. If ‘R’ is the radius and ‘M’ is BRo0BODE  ToR  F¥Ro3oITONG.
the mass of the Earth, then work done in R0 32 ‘R’ DI BR,000 M Chla0)
this process is 8 $,0%0he) SNTHB 83T JREd
Clalebrinl
(A) Eg—R (B) mgR e
gy, MER (B) mgR
mgR 3
2 (D) —== R
© 2mex ' 4 (C) 2mgR (D) i'%f—-
Space for Rough Work / 2,080 ‘””‘.%"
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14.

First overtone frequency of a closed pipe
of length ‘I’ i8 equal to the 2nd harmonic

frequency of an oben pipe of length g

. gy eugRts word B0y BedeEod

3003 LOTTT 533,303 1y’ VTR
w00 38T 2903 HORBS Fon3T aaggﬁ

.l
The ratio == =
) DTN, BOMEY E—L =
2
3 4
A — B <=
@3 3 (A) ) B) =
2 4 3
(C) -3-'- (D) 5 3 2
2 - D) =
©) 2 (D) 3
The resistance R = X where \Y
15. e resis =7 3reg R=-I_’V=(100i5)v R
V=(100i5)VandI=(1{)iO-2)A.. _ o
The percentage error in Ris 1=(10£094, B?‘d' daeg R SOp ot
A) 52% 3esdd
(B) 48% (A) 52%
(C) 7% (B) 48%
(D) 3% (C) 7%
(D) 3%
16. A block rests on a rough inclined plane .
making an angle of 30° with the 200 Roomd ﬁ&smud ‘-30%
horizontal. The coefficient of static Bnoddrorod, 30° BReSTE, WO
friction between the block and the plane Al {anlelens Soed JBY %QQWQmoﬂ, 3001
is 0-8. If the frictional force on the block 22 Q!f;pabr{'d 3@ MOVPRFTS 08.
is 10 N, the mass of the block is Sooabﬁ:e@d;mmu;wNeﬁdd
(g =10 ms™2) _ ' '
20@0R3 008, (g =10 ms™?)
(A) 1kg
(A) 1kg
® 2kg (B) 2kg
(C) 3kg (C) 3kg
(D) 4kg (D) 4kg
Space for Rough Work / 2.0 Goﬁiﬁ z}h@
0. AR '
./o/ 0 U §
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17. Two particles of masses m; and mg have | 17. my 3y my mé@% QTR Beanisd
equal kinetic energies. The ratio of their 2=3308 E@OUO@%{ mo@mg{, ey
momenta is Rozden e9R0TIR)

A :

e (A) m;:my

e L (B) mg:my

(C) ,,lml :,}m2 (C) Ja_l- :J_I_n;
% o ‘

(D) m :my (D) mf : mg

18. The pressure at the bottom of a liquid | 18. TRITOH £3R,08° 3906, wIBdR) CINIHTE
tank is not proportional to the 953008003 SNTIFOY,

(A) Acceleration due to gravity (A) ﬁ:cb:é; a’eﬁxae%ﬁ:—‘
(B) Density of the liquid B) I3 ROT3
(C) Height of the liquid (0 T @30
(D) Area of the liquid surface D) TR Hoed wﬁ DRCEDE
: ZODBROROT

19. A Carnot engine takes 300 calories of 19. ©FE SoRe’, 500 K 0
heat from a source at 500 K and rejects 300 5ERD TODIJSY 3rto303a, R
150 calories of heat to the sink. The 150 @rsd;aga 5;33;3;\12& D mm’gﬁ eBI3.
temperature of the sink is o mos BRsd e a&é
A) 125K (B) 250K -
© T50K (D) 1000K B JIE (B) 250K

(C) 750K (D) 1000K

20. Pressure of an ideal gas is increased by | 20- 38 eoRFoQ, UBIF BT WIBIR,
keeping temperature constant. The B3N 2r0nY B gjg
kinetic energy of molecules =
@& D (A) 3B BROJYTO

ecreases
(B) Increases (B) £‘2,3:>J{)E§]c$o
(C) Remains same (©) Iaaﬁeodoe EVPOTOTHTO
(D) Increases or decreases depending on (D) ©W® m};ﬁ)dd Soedd ﬁmJb@Cb
the nature of gas o SR SROTT
Space for Rough Work / 2.0t Gozili g
Physics (8 -H)
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g1. A man weighing 60 kg is in a lift moving | 21. %), SodFR> 18 ¢ 22 FgI0HTN

down with an acceleration of 1-8 ms~2. BORE OFRY, 60 8.7D0 Brod,
The force exerted by the floor on him is =mEd OF TE3OR) ORI Woed
(o) 588N Bo3ReNROT WO
(B) 480N (A).. 588 N
©) Zero ~ (B) 480N
(D) 696N i mdﬁ

) (D) 696N

99. Moment of inertia of a body about two 22, wowd TODT %d@&ﬁﬁ), SO

perpendicular axes X and Y in the plane Boed A ©owTNDR X 303 Y egrien
. 2
of lamina are 20 kg m a::fd25kgm2 edsﬁommn20kgm2ﬁb&_,25kgm2
respectively. Its moment of inertia about St ET
an axis perpendicular to the plane of the uncZs, TSRS @ @ !
lamina and passing through the point of (x DR Y) 00N TN [WORER,
intersection of X and Y axes is SOLINTS IRBOTY, STOPT BET
(A) 5kgm? (B) 45kgm? @IPH SIS
(A) 5 kgm? (B) 45 kg m?

©) 125kgm? (D) 500 kgm?
©) 125kgm? (D) 500 kgm?

93. Two wires A and B are stretched by the | 23. 2Roe0 BROVTIT STR> Jo3rish A T

same load. If the area of cross-section of B e:mdad ‘A’ 30303 R DYEEIF DR
wire ‘A’ is double that of ‘B’, then the *
\ opomtevamen B 8 doed €O
stress on ‘B’ 1s
QEBIR) -

A to that on A '
(R) Equal tohatehs, (&) AT @3 IRTNTYT

(B) AT @30 2OR> BeRNSOIT
(C) . HalfthatonA ~ (€) AT B8 Lgr B3y
(D) Four times that on A | D) AT eBIT O BeRNTIYS

(B) Twice that on A

Space for Rough Work / WO duxd X
P ‘0‘0u1 -‘"q .*%:

o
&0‘“‘%' Lo

0 [ yt-§
Physics \%%0 p/ (9-H) |
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24. The magnitude of point charge due to
which the electric field 30 cm away has

the magnitude 2 NC1 will be -

24. 2 NC-! ZRReER) D §e3008 30 em

BROBABS womd DR ST Ty@RED

(A) 2x10°11C
(A) 2x10711C
(B) 3x10711C
~(B) 3x10!lC
(C) 5x10711C
(C) 5x10°11C _
(D) 9x10711C
(D) 9x10711C |
- | 25. 1 kg ooBOdD, 1V DPRRQ,2 C uBeII)
26. Amass of kg carrying acharge of 2CIS | g0 Snpien; oty ey
accelerated through a potential of 1V. N
The velocity acquired by it is (A) V2 ms?!
(A) V2 ms?! (B) 2ms!
(B) 2ms! o) L mel
g 1 (®)] T ms
(C) —= ms~
V2 (D) & ms~]
2
(D) -;— ms™!
26. IDFI wBeIYY, 0B Word wBeBrd
26. The force of repulsion between two SBRZ d'r'?d moeed, Y &md% e '
identical positive charges when kept with TWOS MBI WO F SNSIB oJnid
a separation ‘T’ in air is F". Half the gap 0300 BFF TR, WTTBBY, Alavky e folial
between the two charges is filled by a AHT]E 4 AT RGTIFCHILS &
dielectric slab of dielectric constant = 4. R R T LU Sm‘* ‘; o
Then the new force of repulsion between s »
those two charges becomes - Nerbg ’
F F
F F A) . = B =
A) — B) —
@ 3 ® 3 3 2
F 4F
o E o iF © 5 @ %
4 9
Space for Rough Work / 2.0t ic}:ﬁ* g
A
N § 2
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27.

28.

29.

For the arrangement of capacitors as

shown in the circuit, the effective
capacitance between the points A and B is

(capacitance of each capacitor is 4 uF)

L

= 4uF T
(A)

©

(B) 2pF
(D) 8uF

4 pF
1 uF

The work done to move a charge on an
equipotential surface is

(A) Infinity
(B)
©
(D)

Less than 1
Greater than 1

Zero

Two capacitcrs of 3 uF and 6 pF are
connected in series and a potential

difference of 900 V is applied across the

27.

| 28.

29.

o08ns  RReBRR)  BproraoBuRE)
2re0aT B8 TOENY o083 4 pF Shlapie
A S B woind Dy  ad
HOTHRITO z:,mdéa’ aa’o

i

®) 2 uF
(D) 8uF

(A) 4pF
(C) 1pF

2,00 RPRB e (oD, womd
QDT SHBBI), 23O%e0 BN FOIF)
_ eshd3a.

(A) 503

(B) 16603 3R

(C) létoé 03

(D) 3RF

3 uF 303 6 pF adox 0@ Gasendsy
Feed Bnedn SRBOING. ISwE 900 V

-
combination. They are then disconnected &Jmmoélddabq 90&38?\&63. e
and reconnected in parallel. The potential ABReRS RIB DIY P Aww0dd
difference across the combination is HoeBremR, RS Drpodd e,
(A) Zero A) 3w, (0)
(B) 100V (B) 100V
(C) 200V (C) 200V
(D) 400V (D) 400V
Space for Rough Work / WOD #Oﬁ% ﬁé‘l
Physics (11-H)
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30. Ohm’s Law is applicable to 30. LS Q03O TORRIO
(A) Diode (A) %Cﬁma"
(B) Transistor (B) w_a)a:% (@Q&U‘)
(D) @nductor D) =g
31. If the last band on the carbon resistor is
31. BRepEn BRI wed
absent, then the tolerance is . f:OdJ 33::0?:3‘ 3 S £
a) 5% Roed  BeSodo  AQRTN Slefolinl.(n]
ABIZFOI0 Chlobind
(B) 20%
© 10% (A) 5% (B) 20%
(C) 10% (D) 15%
D) 15%
32. B3 89N BeOATORN POTY P 203 Q 1Y
32. The effective resistance between P and Q g, VoL 283 BReRR)
for the following network is &
R
R
3Q 3Q =8 i
VWY
60 6 Q
40 5Q - 4Q 5Q
P Q & Q
1 @ =a B
@ Sa (B) 21Q 12 ) 21Q
1
© 120 o La € 120 (D) o1 @
21
Space for Rough Work / 2.0t ic::!‘i 3%
Physics (12 -H)
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33.

Five identical resistors each of resistance
R = 1500 Q are connected to a 300 V
battery as shown in the circuit. The
reading of the ideal ammeter A is

300V — R R R <R R
@
1 3 ,
= A B 2
(A) 5 (B) e A
. 2 4
(C) 3 A (D) 5 A

Two cells of internal resistances r; and ry

33. R = 1500 Q @Q0O0& omde wiod b5

(C)

BReEnda) 300V wREdn - deedEn
RNBROOPRO FRPF DoBOTE Zedd.
STBF waggw‘dd (A) dDe@on'

+
300V o

(A)

=
>

o
>

34, 2.00¢ L.QBT.QF. RY OB deeEnd
and of same emf are connected in series, 50308 BReR) r; DB 1y [WY AN,
across a resistor of resistance R. If the R SregRe, draeqﬁﬂ BN 3jerd PonRY,
terminal potential difference across the ®oeRRoONT. 80308 8Reg r; I t’ﬂ%ﬁo
cells of internal resistance r; is zero, then BFIY  Dymecdd  BeZEndizd.
the value of R is TRGG, R S 834
(A) R=2(r; +19) (A) R=2(r; +ryp) |
B) R=ry-1q (B) R=ry-r

(C) R=rq-
(C) R= ry - Tg f1-1r2
. (D) R = 2(1‘1 - I'2)
(D) R=2(r)-r1p)
Space for Rough Work / 2.0t cemg 3
¥ Ao
n, ¥ .
Physics ; : (13- H)

7
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85. The I-V graphs for two different
electrical appliances P and Q are shown
in the diagram. If Rp and Rq be the
resistances of the devices, then

r Q

L]

Y

V——
(A) Rp=Rq (B) Rp>Rq

Rq
(C) Rp<Rgq @) Rp=—1

36. The correct Biot-Savart law in vector
form is
- -

o 1@ xr)

4n r2

—
(A) dB =

- -
(B) d-§="—° Id! xr)

35. P @3y Q dow 0B PG 1-V =g B

89ns038. Rp % R 7ied oInd
Bregenvonss

n Q

—

\j

0 vV—

(A) Rp=Rq  (B) Rp>Rq
Rq

v
Wodnes® NdU:H éb"'F:J FAlovernoln]

ﬁmeﬂdmﬁd&ﬁﬁ)ﬁ d@ﬁd@vi_
- -
A) dg _ ko Id! xr)
4n 2

r

- - -
= .3 (B) dB = M0 IdIl xr)

N 5 475 ra

© dB =t Id! " T

2 Id? nT

(D) dB =*2, = - i

4n " o (D) dB = Yo Id!

4r rd

Space for Rough Work / 2.0t 30:!#* 3¢
Physics | (14 - H)

Scanned by CamScanner



87. An electron is moving in a circle of oudiBing

r in a uniform magnetic field B, Suddenly
the field is reduced to Eg The radius of

the circular path now becomes
(A) % (B) 2r
©) i (D) 4r

A charge q is accelerated through a
potential difference V. It is then passed
normally through a uniform magnetic

field, where it moves in a circle of |

radius r. The potential difference required

to move it in a circle of radius 2r is

A) 2V (B) 4V
(C) 1V (D) 3V
. A cyclotron’s oscillator frequency is

10 MHz and the operating magnetic field
_ is 0-66 T. If the radius of its dees is 60 cm,
then the kinetic energy of the proton
beam produced by the accelerator is

(A) 9MeV (B) 10MeV

(D) 11 MeV

(C) 7MeV

37. B 3D D0FITY word OHF, r

39.

35 FFBQ VOIS, s woEe3,
_Tzi o), BRGNS, FI3 )
BRI

(A) _;. (B) 2r

(C) (D) 4r

| =

V Qfaoodon®, 2o q S8eBIIY

eBoders  RRRN, IR WS FITQ,
PO ©h r ST, FZBY, BRI

333 8% 2r T, WORW Ve

De3ez0030 e, :

A) 2V (B) 4V

© 1V (D) 3V

20w RERMNT  WOBRVT U[IFIFY)
10 MHz 303 3R+ B0 5003ge3R) 066 T
[OZN. Fpetnd D ¢ EuD 60
Bo.oe. - adoZW. TorwnS  FERELRT
SerpedRrsned Jpena® YR T
By B B§odn |

(A) 9 MeV (B) 10 MeV

(©) 7MeV (D) 11 MeV

space for Rough Work / 2.0 '!OZM* @

-

va. bl
_j)“\' O.anm
’RU.'[’L’ 4 oo?
%
W <y 500 0 h
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40. Needles N;, N, and Ng are made of a

41.

ferromagnetic, a paramagnetic and a
diamagnetic substance respectively. A
magnet when brought close to them will

(A) Attract all three of them

(B) Attract N; strongly, N, weakly and

repel Ng weakly

(C) Attract N; strongly but repel N,

“ and Ny weakly

(D) Attract N; and N, strongly but

repel N

The strength of the Earth’s magnetic field
is

(A) Constant everywhere
(B) Zero everywhere

(C) Having very high value

(D) Varying from place to place on the |

Earth’s surface

40. Pdee, oo DI BRI

41

Invomes Ny, N, 333 Ny 0w a’:.radal
2. 81 ZRWNY BT 8oTd T0BTI

lelnle]
A QUBER UBAFRIT

(B) N; &) womn ¢sarzogd N, 8
gemomon &HZ Ny &) Fersowmon
DBAFRLZT

(©) N; & womoh gsarid3s ¢od N,
30 Nj Y Jermomon DBAFRLZT

D N, R N, nedy  womn
COBAFAYE T3 Ny o)
DBAFROZT

PR 7038

(A) QR 33 wodde SATHIS

(B) 2 38 8eF, sncH3P

©)  2own BN

D) Hood  doed | Foed 0w

galeal BRRomd ] RS
STpvrtn
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42. A jet plane having a wing-

iy Span of 25 m i
travelling horizontally towards east \?1‘:]{:
a speed of 3600 km/hour. 1f the Earth’s

magnetic field at the location is4x104T

and the angle of dip is 30c, then, the
potential difference between the
the wing is

ends of
(A) 4V
B) 5V
(C) 2V

(D) 25V

42, 25 m DO A IR, word e

BRI 3600 km/hr [ern@d) §3e
TPIrE WBORIH ToBIEeI 4 x 1074 T
K03y 500338 30° VR, NOIFS TR
001 Bg3,eR00R DJe0o3TBe)

(A) 4V

(B) 5V

© 2V

(D) 25V

FPNSRNIA, CINTT, F0T o3NER’ | (Xy)

(] .
it S

43. Which of the following, represents the
variation of inductive reactance (X;) with B3R QPR B30 (V) TR ORI
the frequency of voltage source (v) ? S AN i
AL w |- /_/
(A) v
v _ _
X.L A )
X.L "n I (B) —/ 5
-(B) J L——» v
'v XL A
© / —
¥ XL 1\ : .
Xy 4 (D) \_
Pt
(D) k_
L —>V
AN _Spéce for Rough Work / 2.0t 8'0:;’3* ;'q;eé
B
W )4 17 -H)
Physics %?{ ‘_. SNy [ (
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44. The magnetic flux linked with a coil
varies as ¢ = 3t2 + 4t + 9. The magnitude

of the emf induced at t = 2 seconds is
(A) 8V

(B) 16V

(C) 32V

(D) 64V

45. A 100 W bulb is connected to an AC
source of 220 V, 50 Hz. Then the current
flowing through the bulb is

5
A) —A
_( ) 11

(B) A

B | = -

(C) 2A

(D) A

| o

46. In the series LCR circuit, the power

44, Fodop Rooer ToSES T,

o =3t2 +4t+9 dogeramen, t =2
#8033, Fedes VT Q. R . AT, I
ZRwed

(A) 8V

(B) 16V

(C) 32V

(D) 64V

100 W & 2.0 wcg_ﬁglzzo V, 50 Hz a3
TodnFod W’ eﬁdﬂa BReBATN &

weR Sam030 BoohoE O3

3erd LCR Rpeorsoodeond cingas

dissipation is through R0200033 AT BITH BRERD
(A) R (A) R
= L (B) L
© cC © C
(D) BothLandC
D) LR C
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4. In Karnataka, the normal domestic power

supply AC is 220 V, 50 Hz. H
and 50 Hz refer to ere 220V

(A)
(B)
(%))

Peak value of voltage and frequency
rms value of voltage and frequency

Mean value of voltage
frequency and

Peak value of voltage and angular
frequency

(D)

A step-up transformer operates on a
230 V line and a load current of 2 A. The
ratio of primary and secondary windings
is 1 : 25. Then the current in the primary
is

(A)
(B)
©)

(D)

25 A
50 A
15A
125 A

The number of photons falling per second
on a completely darkened plate to
produce a force of 6:62 X 103 Nis‘n’. If
the wavelength of the light falling is
5%10~7 m,thenn=__—> 10%2.

(h = 6:62 x 10734 J-8)
A 1

®) 5

() 02

(D) 33

47.

49.

FToF LR @ eroBodpenEN WS AC
acbid 238030 220 V, 50 Hz, ac3T.
T3 99,220 V 333 50 Hz Boale

A) aPI3 Zon 233 203 RS

(B) PSS rms 233 =B ejddé

©) oSy Boam0 8BS 2B esd

D) oyss Zort B3 Ry deed St

930 JSFBFH PR TR 2A droed
Jom BrodTE D08 BORIFIT BPos
20800 B3y DPecdds BNY RTRIR)
1: 25 58 BHoS 2890308, BOIOT
IRT BIOBR)

25 A

50 A

15A
125 A

(A)
(B)
(©)
(D)

662x10° N wud&dm%aﬁw BoTpeor
BBNSOB Be3o, 2,07 Adoan ©Tc Boed
veddemn Jperand oL, o &SNS,
23983 300R BrSP) 5 x 1077 m BNGQ,
%1022, (h=662%x10734J-8)

Aa 1

(B) 5

© 02

(D) 33

n=
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203 BBFE BPOS Sonsd WORINTEY,

e g incipal focus | 50.

50. An object is placed at the pl'lﬂc-lpa O

of a convex mirror. The image Wlll be at qudj d@dﬁi raw:i’ﬁ' edd ajé?bowi‘) e ™
RIS

(A) Centre of curvature =
(A) SBzo geo,

(B) Principal focus
(B) Jges Rona> Lomd

Sy -Inbriky © aaRes

(D) No image will be formed (D) Béwow SRBPOE,

¥ : -

51. An object is placed at a distance of 20 cm | 51. woRd  JWSH, 10 Fo.Qwe. Roriad
from the pole of a concave mirror of focal BROTOR  wotd Dﬁl BIFed B0
length 10 cm. The distance of the image 20 Ho.e. z:iradd@_} QERONS.  rd
formed is CUOLDBREN TS BRTI)

(A) +20cm (B) +10cm SN,
© -20 D) 10 (A) +20cm (B) +10cm
seem B (C) -20cm (D) -10cm

52. A candle placed 25 cm from a lens forms 52. womd FARCRTE 25 cm ao:eidde‘?_,dod
an image on a screen placed 75 cm on the Boerd  wod %32302'3@) > Saiclela)
other side of the lens. The focal length ‘&ﬁfaoc'b @R 75 cm ©030TE) Fe0ITI.
and type of the lens should be TOMBY WYZT DRRT CIRJITD o3

-
(A) + 1875 cm and convex lens Nor{mmdﬁﬁ:’u?
(A) &¢I DRV D) +18-
(B) - 1875 cm and concave lens S e
, (B) R RT3 -18-75 ¢cm
(C) + 2025 cm and convex lens
(C) ez TRT =3 +20-25 cm
(D) -20-25 cm and co 1 P
ncave lens ™ o a:’oq Sovlised gy ~20-25 cmn
Space for Rough Work / 2.0 Sm}% :g.i | | ’L
! (1 Vo d # oD
i | ; B
\/:%9\-0 ° .\‘Bto/éﬁ \ [4‘?“ ¥
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“ e A
X vow A
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5. A plane wavefront of wavelength »,
is

m 18

A
© 5 (D) &
2\

., In a. Fraunhofer diffraction at a siﬁgle
slit, if yellow light illuminating the slit is

replaced by blue light, then diffraction
bands

(A) Remain unchanged
(B) Become wider
(C) Disappear

(D) Become narrower

. In Young’s double slit experiment, two

wavelengths A, = 780 nm ‘and
Ay = 520 pm are used to obtain
interference fringes. If the n't bright
band due to Aq coincides with (n + 1t

bright band due to Ag, then the value of n |’

is

A 4
B) 3
©c 2
D) 6

53. A Sdomwdﬁ;q sdoﬂma:;sa"% o8

,egonoB0 =$yee3 TOOWATS. aegnoBOD
sio a SNCO TS B3 Jedod
20e203 4nY

2)
a

(A) (B)

m =
()21

o8 pegonood TE EET DSIFBoDY,
nesh o@D, SENSON 390 RV
Boss  widR 2D e BIEE)
svodRenass, DESFS 23, 0T N0

A)  cagimont ACHZH

(B) RomZE

(C) W3S

(D) 3OTNI3N

osoor Quesoroon pfeviolyial}
A, = 780 nm 0 Ap = 520 nm
30omme3ss  BEBd  euIodnend 8R0Rd
o3 Hatdn pownss Swad. o
Feosniiod Sorwess My 23R (o + D™
BEBTeIoN Ao ®¥adneacen, n 8 B33

@A) 4 -
B) 3
c 2
(D) 6 .

©)

>l =2

o R s S
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6. In Y le slit 'riment slits 56. odon's Qﬁm@ﬁo&
56. In Young’s double sli exzeh ;en . s . sl Gedd 9w,
, o _
are separated by 2 mm and the ) - sodsies s widtiol) SEbSE edd
placed at a distance of 12 m from the =2
12 m oF 6500 A I 5200 A
slits. Light consisting of two wavelengths
: 30orwo3ony B o1r®) de3od
6500 A and 5200 A are used to obtain Ko 23
- . - ToOZe 2
interference fringes. Then the separation ti#ﬁ?)od)o&saﬁ):f gc;;‘ & o
between the fourth bright fringes of two oY SRUT 030D
different patterns produced by the two o
: (A) 0-312mm
~wavelengths is
(B) 0-123 mm
(A) 0312 mm
' 0-213
(B) 0123 mm - o
412
(C) 0213 mm S Gdlfaom
(D) 0412 mm
< |57 Fpeedn 2SmPS  nom  wemsicdn
57. The maximum kinetic energy of emitted '
; B0V TNZYTD
photoelectrons depends on _
" (A) Intensity of incident radiation (4) SIS 38T 8e33
(B) Frequency of incident radiation (B) 303 Q835 Qﬁ%@
C) Speed of incident radiati :
(C) Speed of incident radiation ©) o3 H8dmg S
(D)  Number of photons in the incident ‘
radiation (D) es53 &ﬁdmd@rﬁ DReLINY ?Joaj;s
Space for Rough Work / wotd 8033 e
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F

. A proton and an a particle are accelerated

gt

@A V2
B) 242
© 3
D) 243

The total energy of an electron revolving
in the second orbit of hydrogen atom is

(A) -136eV
(B) -151eV
(C) -34eV
(D) Zero

The period of revolution of an electron in

the ground state of hydrogen atom is T.
The period of revolution of the electron in

. e

58. 0G¢ ogeeosd V 3, 2000 I

-BEANIR, esgoTe Snawmn,
eanie B¢ B, 330033 BRITS,

@& V2
B) 242
©) 3
(D) 243

. BB ZoRReoRs SCB giodQ,

QOWPS W, 33
(A) -136 eV
|B) -151 eV
(C) -84eV
(D) Zero

JoRPEODRY,  BR
ASEDARR ST AT Cgias
fodyR 30 T, oGt S8R0V eudentd

the first excited state is
3,30 ST By3oS0Ie S
A 2T .
p (A 2T
B) 4T
‘ (B) 4T
(c) 6T
(C) 6T
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